


iy

ool

F884a,b7taxb<0, bxc<0, axc>0< 0, 2 =
=% A2? (&, e > boltt)

@b—a @ a+c @—g @—IE) ® a-c

B ~

axb<0,bxc<0, axc>0N"a, cEFS7FEA b, c =
Ko7t o2,

a>0, b<0, c>0°|c}

@Db-a<0

®a-ce FFUA SFAA ZEH.




3 x 5% x 20 9 oF9] |47t 72 A wf, x & -otoet
[
| —

| 2
[> b=

ok =

B

3'Xx52x20=22x3"x5 o|B=Z
oFr o] =
@+1)x(x+1)x3+1)=72(7N)
T x=05




4. o

oo

T A28, 42 O] FefTh ofd A2?

@ 1 @ 2 ©Y @ 7 ® 14

28 =22x7,42=2x3x7 9 HPFFLE 2x7 =14 0|BR
14 o] okt obd AL B 4




Y 57k ZbzE 127, 247, 60 7891 A, B, € Al FYEHIZE o 11
Zol A= grHEd Qlrh Al HH7E BE AS ST YD YA R
Al gtEEdE FYEH € = 2 S EotoF steA] Fotofet

> E sl

2) 72 24 60
2) 36 12 30
3) 18 6 15
2) 6 2 5

3 1 5

23 x 32 x 5 = 360
72, 24, 60 2] FAFHj4=360 0| B2
L 360

=55 =6 (8F7) SotoF it

o 68




I3 o] HoflA] Edote] 23, 39, AlTE-S AA ohA] H7HA]
Q= 4dE, AollA FL7A] A AR thd2 A Eot dupt o ¥
71 ZH, Y, AGEHE AR Jog o= Aot HollA FA7A
AR Zhth & A9 &2 Fotoe)
A 24
N3 J‘I\"E‘R‘)“’
> E km
» E: km
685
1261
si= 8—4m
oA 24, Y AXHES AFH & A4
15,13 23 625 260 135 72
4 3 10 5_@_@@060 60
60 0 12
WA BN 92 A 2 2 4 2 = P
.. 139 24 973 288 685
X]'. —_——— = —— — —— — ——km
12 7 84 8 84
g 189,24 013 288 1261
T12 7 84 84 84




Al 4 a, b, c 7t Hae 5T W g, b, ¢ FEE HIEA A A7

@ axb<0 @ a<b @§>o
@D a<0,b<0,c<0 @a<0,b>0,c<0
® a<0,b>0,¢c>0 @ a>0,b>0,¢>0

® a>0,b<0,c<0

ZA @D, OANM a, b= FI7tEHO]lT a<bO]BER a <0,
b>0
ZA@N aetc Y RE=22ERE <0




8. 720 9] oFrt ol A2?

@ 22%x3x%x5 @ 2x5 @ 32x5
@24><33 ® 2x32

720 = 24 x 32 x 50| B2 720 9] k4= (24 9] oF4)x(32 9] oF
F)%(5 9] oF4) ot




7 2 4R UH 27t 6, 6 S 2 YA U755 2 YA U
2|7} 4, 4 2 U Y2713, 3 2.2 R Y27t 271 Bl
F| 0] ZAgo A AR =21e] g2 F-stoft.

(e} Z
2L =

oli

=

7, 6, 5, 4, 3 9] FHl$)-1 o] Eo|1

7, 6, 5, 4, 3 9] FA-FH|4= 420 o]t}
kA 24 0] AFAS4E= 420 — 1 = 419 ©|t}.
L A4+14+9=14

=
—

o

—




10. % A< ab ol Hotol ja) = 3.p| =9 L W, a-b 9 gt T 7FF 2
e ot

> E:

> ®eh: 123 412

B

la = 3 °|B2 g = +3 T=a = -3 o[t}

bl =9 °|E& b=+9 B b=-9 o[t}

et a-b O G2 a = +3,b = +9 & ), (+3) - (+9) =
(+3) +(=9) = =6 °]2L

a=+3,b=-9% ™, (+3) - (-9) = (+3) + (+9) = +12 °]2L
a=-3,b=49 Q4 o, (-3) - (+9) = (-3) + (-9) = -12 °]*
a=(-3)—(-9) = (-3) + (+9) = +6 °|c}.

wheba] 7 & 32 1200t




ol
iS¢
o|J
o8

ol
Nfo

op

& A o]t

® 8 1} 27
@ 12 9

® 249 49 A4k 2 7ol

@ 60 9

+ 3 7iolth.

e
o4

d

Hejop7t 3 ol BE M2 AT} oh) ]

L
1

3,9




12. g A AN 29 09 ASE Totoleh. (F, 210 = 1024)

219 (510 +2)

210 x (510 4 24) = 210 510 4 910 5 94
=101+ 1024 x 16

1024 x 16 = 16384 0| 22

- (09 74)= 10 - 5 = 5(7H)




